1-5 Combining Integers Name: Period:

O Addmg and Subbracting Integer‘s ’ i

Sm)
Adding or subtracting integers with Jkas;gns
and _Kg,‘;__the sign. ~94(~4) )
4+2=6) (-6+ -8=-14) (-9 -4 = -13) .
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Aﬁcﬁmg or subtracting integers W|th@£ Tsigns,

and Jg_qL the sign of the Lac%g{_ integer.
(-6+3 =-3) (8+-4=24)

=when %;T_'a;“[m & 65&1“?« it turns into a_p_bﬁilye» ;
and then Tollowsone e two rules aboya! . -
{8 +4 =12 becomes 8 + 4 = 12} W aLouJol.z_ < e

(-8 + 4 = -4 becomes -8 + 4= -4) S pog&
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7.) A helicopter ascended 220 metersito an altitude of 800:meters. Find the
»f"‘c')ﬁg"ihilil‘i!tbde 400 - 220 =

L ¥ R20 = 300
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8.) The winterlow temperature in Frosty City was £18°F The summer high
temperature was 86° F. Find the{differencg)between the temperatures.
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Evaluate each expression if x=-4, y=-1,and z=6.
PlA«aa,m or F&P(a.a #'s Lo Ld-’—C/'S
9.)z-11 10.)y-8
b= (-1)-8
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